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QUESTION 1

During an Account review case, an accountant wants to evaluate the client\\'s retirement plan. A Retirement planning
case is created that runs in parallel with the Account review case. Neither case waits for nor reports to the other. 

To configure this workflow, which type of parallel processing shape do you use? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

QUESTION 2

A hospital uses a case type to manage the treatment of patients visiting the Emergency Room (ER). Cases are created
when the patient checks in at the registration desk, and are resolved when the patient is released from the hospital. 
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Stakeholders identify the following security requirements for the case type. 

Patients access cases on a read-only basis. 

Patients can only access their own cases. 

Doctors and nurses can modify cases throughout the case life cycle. 

Only doctors are allowed to write prescriptions. 

Which configuration allows doctors and nurses to modify cases while complying with all identified security
requirements? 

A. Create two access roles, one for doctors and one for nurses, and set the modify action for each to 5. 

B. Create two access roles, one for doctors and one for nurses, and set the modify action for each to 1. 

C. Create a single access role for both doctors and nurses, and set the modify action to 5. 

D. Create a single access role for both doctors and nurses, and set the modify action to 1. 

Correct Answer: A 

 

QUESTION 3

The Static Assembler is used to address rules assembly issues due to which cause? 

A. The server is managing a large number of rules caches. 

B. Access groups contain multiple production rulesets. 

C. A new application is migrated to the production system. 

D. The application record lists several branch rulesets. 

Correct Answer: A 

 

QUESTION 4

What is the difference between using the Call and Branch methods in an activity step to invoke other activities? 

A. Call provides more robust debugging capability than Branch, while Branch provides better run-time performance. 

B. Branch overrides the security restrictions of the called activity allowing you to easily test code; it will not run in
production. 

C. Branch creates a new thread to allow asynchronous processing, while Call runs in the thread from it was invoked. 

D. Call returns to the originating activity, while Branch skips the remainder of the originating activity. 

Correct Answer: D 
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QUESTION 5

If a customer reports an issue with their order, an Investigation case is created. All investigation cases are higher priority
than other case types. 

What configuration supports this requirement? 

A. Create a service-level agreement (SLA) rule and ensure that the assignment is ready immediately. 

B. Create a service-level agreement (SLA) rule and increase the initial urgency. 

C. Increase the initial urgency on the case type settings. 

D. Configure an optional action to enable manual changes to case urgency. 

Correct Answer: A 

 

QUESTION 6

What is the function of class mapping for reports? 

A. Ensure all data from one report belongs to a single Case type instance. 

B. Create a new Database table record for a Pega Platform class. 

C. Assign an ID to a class so reports can reference specific properties. 

D. Retrieve data from an associated database table. 

Correct Answer: D 

 

QUESTION 7

What is the purpose of the Policy Verification landing page when configuring a security solution in Pega Platform? 

A. To test if a user has the required access to a case 

B. To manually authenticate a specific user on an integrated external database 

C. To test if a user\\'s channel-specific password meets defined property requirements 

D. To configure mapping of access control attributes 

Correct Answer: A 

 

QUESTION 8

University admission application cases automatically advance in the case life cycle if the applicant\\'s standardized test
scores are above a certain threshold. The threshold is determined each year based on the provided national average
score. 
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Which two configurations, when applied together, support this requirement? (Choose Two) 

A. Configure a process with a decision shape that continues if the TestThreshold Configuration setting is less than the
applicant\\'s test score. 

B. Configure a TestThreshold Configuration setting with the national average for the test score threshold. 

C. Configure a TestThreshold Configuration setting that calculates the national average for the test score threshold. 

D. Configure a process with a decision shape that continues if the TestThreshold Configuration setting is greater than
the applicant\\'s test score. 

Correct Answer: AB 

 

QUESTION 9

An application includes the following set of circumstanced instances of a decision table. 

You update the application and increment the AccountManage ruleset version to 01-02-01. As part of this update, the
circumstance .Status="Silver" is no longer needed by the application. 

How do you implement this change? 

A. Create a new version of the circumstanced decision table in AccountManage:01-02-01 and select the Base rule
option. 

B. Create a new version of the circumstanced decision table in AccountManage:01-02-01 and set the availability of the
rule to Withdrawn. 

C. Create a new version of the circumstanced decision table in AccountManage:01-02-01 and set the availability of the
rule to Blocked. 

D. Do nothing. Rule resolution does not consider rules in a lower minor version of a ruleset. 

Correct Answer: C 

 

QUESTION 10

What are the two most common ways to expose your application to an external system? (Choose Two) 

A. Create a connector linked to a data page. 
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B. Leverage the Pega API. 

C. Configure a signed certificate. 

D. Create a web service with the Service wizard. 

Correct Answer: BD 

 

QUESTION 11

When deploying mashup code in a webpage, which option is necessary to ensure that Pega Platform accepts incoming
requests? 

A. Ensure the host is configured to support HTTPS. 

B. Establish a private tunnel from the host to Pega Platform. 

C. Enable authentication policies on Pega Platform. 

D. Add the host URL in the Pega application. 

Correct Answer: A 

 

QUESTION 12

Consider the following requirement: An auditing policy explicitly requires that employees cannot see the contents of
complaints made against themselves. 

Which security solution do you use to satisfy the requirement? 

A. Access of Role to Object 

B. Access Control Policy 

C. Access When 

D. Access Deny 

Correct Answer: A 

 

QUESTION 13

You are updating a system of record using a SOAP connector. If the system of record is unavailable, you want to retry
after an hour. If it is still unavailable after an hour, a notification should be sent to a system administrator. 

How do you implement this requirement? 

A. Implement the logic in the data page\\'s response data transform. 

B. Implement the logic in the connector\\'s error handler flow. 
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C. Customize the standard pxErrorHandlingTemplate data transform. 

D. Use a transition condition in the activity step invoking the connector. 

Correct Answer: B 

 

QUESTION 14

Which statement is true about services? 

A. Services require a REST connector to function. 

B. Services return all data in XML format. 

C. Services may process outbound requests. 

D. Services may use a listener that runs in the background. 

Correct Answer: D 

 

QUESTION 15

An assignment service-level agreement (SLA) is configured with the following details: Initial urgency: 20 Assignment
ready: Timed delay of 1 hour Goal: 5 hours and increase urgency by 10 Deadline: 8 hours and increase urgency by 20
Passed deadline: 2 hours, increase urgency by 20, and limit events to 5 Assuming no other urgency adjustments, what
is the assignment urgency 16 hours after the case reaches the assignment? 

A. 100 

B. 90 

C. 130 

D. 70 

Correct Answer: A 
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